[k Su

=5 4Y/HIE o[0ix|

DS DHA £ U 2 K| FYUT BiHol IHE AL MOIE

1%-;—
ST

B 50 B 50
[ =300 164
[ =00 263 131
=500 365 182
L=600 464 232
L=700 563 281

Je ki7es el BuE AsEs 3uT A,
K1748 91| SH=,
Ki751 2E| 328 DS DEA E2 X,

© HEINRICH KIPP WERK GmbH & Co. KG

NESTHIEY

ST M

o

A3 E2DS
oY
THE:
E/Y LY IHER & AEH O SHE F5t AEL
M o2
ST oY Y 1Y 52 @st 2 Aok ME|(HRC 55 £2)
Elojm 2= A3, Qlatdx{E]
e
CtE /Y AARS ChEst QEHO|AE S5l £&E 4 U&LICHA
EHLYEZNEE sHEHL oX]. 1 H 22 = o}F HxlofLt 1™
& & U& Lt
2.DINO{| [} 2 A FE ATRE BE £.3. A|lAH —=.'0| 200mm¢!
ot X273 2 I AAEE @g25mm Q& &.4. A|AE! ZHZH0| 96mm
PAIMZ™ 2HE AAEHE @g16mm /x| £.5.T-& E1|0I%9| Mz g

7t2 Mg I8t 18H70| U= Ml 7l HEd &2 6. ? 7tz40] 40 &
50mm@l a2|E A|AEE HE 7 312F7 L G16F7.

M 7bR| CHE HEE AL 8" = /&Lt

-1H TR ES/K18280| = ¥ CHE ST AlAH QX 23
-1 T2 DS/ K18297t ME YHCHE ST AAH X 2
-OHE 2T AAR I £2 ES/K18300] U= 8% Hof /x| 23
Il

o|=:

ZOo|7t CHE of] 2-E AlAEE ME FloM = LIES| Z2E =
UELICH L 7|02 ™A £20| i HetE HHxI7} 7t 8ot
YL US| SHEZE I1HA £209] E'= fIXIE 7|55t g
SOl A&l SUstH ZHE = UsLICH FH LA Bols 28S
ZRIE £+ et

HO|H 2o U= 2HE LHALE 2 S5tH 2T MIHETL O
o nHE x0 Chsl SEES FELUICH

gx-l.

QUHIXIO 2 QoI5| AFR TIS.
ste 7Eo| 2E0|M 2 FRO| ZENKLE £E AAl odEf el 2
T AIAROIM M2 LIS IHE & LI

=0 Li:

SIx 2T B,

-2x O|ZH Efjo|m 2=,
-3x 1™ &2 DS.

HMIA{E]:

2 E EE K0967.

Al2I LFAF K0869.10X30.
AIZIC] LIAF K0869.12X25.

T % LEAF K0815.12045 / K0O815.16055.
&8 K1752.

7+3 iR 7t U= E ZE K1753.
Z2|& K17547 Qe B =&
SEE HX| K1755.

AT O|M K1756.

2= ME K1757.

www.kipp.com - info@kipp.com 1/3



CiS SUE AMLH AIX| SR YH AHY £2 DS

=5 4Y/HIE o[0ix|

L6 +0,02

L5 =002

L4 +0,02

L3 +0,02

12 +0,02
L1 =+0,02

]l|l||||||||]I|[|||||||]|III||||||||II[||||||||IIII u I IO
N ..==n=..[ (&) ],=|: ==\,.=g'g=ej== o=

w]II[|||||||l]||[|||||||]|||i|||||||l||[[|||||||||||

||||l|[|||||I||IIII|||||||1|II[|||||||]1II[||||||||III[Ni[||||||||III|||||||||iII|||||||||u||||||||||I]Il|||||

D6 .G
= /_ DI . pp
S <l IJ %“ J e T
1 . T %
] em L I A // : %
=l B:0,0T = D5 | L_ ' DT F7

© HEINRICH KIPP WERK GmbH & Co. KG

[ '|||||IIJIIIII||||||]II|[I||||||]II|||||||'I|III|||'| m

]w=w ICHONO)
|

T HI

www.kipp.com - info@kipp.com

2/3



(
CHS S AIAH 9IX| SU= M IY £ DS
== g9
CHS ST AlAY K| SY= UM 2H E2 DS
FEHS =T L B H L L1 L2 L3 L4 L5 L6 L7
min. max.
K1829.05030001 IS 300 50 75 445 50,5 96 200 - - - - 44
K1829.05040001 o2 400 50 75 445 50,5 96 200 288 300 - - 44
K1829.05050001 oHoe2 500 50 75 445 50,5 96 200 288 400 - - 44
K1829.05060001 o242 600 50 75 445 50,5 96 200 288 400 500 - 44
K1829.05070001 o2 700 50 75 445 50,5 96 200 288 400 560 600 44
K1829.05030002 Alzol 300 50 75 445 50,5 96 200 - - - - 44
K1829.05040002 AlzdlolM 400 50 75 445 50,5 96 200 288 300 - - 44
K1829.05050002 Alzilo]M 500 50 75 445 50,5 96 200 288 400 - - 44
K1829.05060002 Alzol 600 50 75 445 50,5 96 200 288 400 500 - 44
K1829.05070002 AleilolM 700 50 75 445 50,5 96 200 288 400 560 600 44
FEHS =T D D1 D2 D3 D4 D5 D6 D7 H1 H2 H3 H4 F G
AAHAFF A FHE AFF
DIN 912 DIN 912
K1829.05030001 oizze42 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05040001 ol 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05050001 oizmed2 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05060001 oize42 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05070001 ol 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05030002 Mzlold 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05040002 MalolMd 25 12 20 16 175 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05050002 Mglold 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05060002 Mzlold 25 12 20 16 17,5 11 M5 M6 50 25 12 16 M10x30 M12x25
K1829.05070002 MalolMd 25 12 20 16 175 11 M5 M6 50 25 12 16 M10x30 M12x25
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



